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osa= 1600
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wl( ) ( 2100 * 1600 - 1500 * 1.000 )* 3.200 * 245 145.824 kN
w2( ) 2100 * 1600 * 0350 * 245 28.812 kN

c 174.636 kN
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2250 m

YW 9.8 kN/m3

2100 * 1600 * 2250 * 938

sa 1.33

174636 / 74.088

74.088 kN

2.357
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1 (g+hl*wys +h2*wysw)*K

2 h3 * ysw * K

1/712*% 1*( +t)"2

max  1/24* 1*( +t)2

/2% 1%( +1t)

1/2*(1/2* 1+1/6* 2)*h3"2

(1+1/2* 2)*h3



hl

h2

h3

max

(G )
3200 -1/2* 1500 - 1.300

1/2* 1500 +1/2* 0.350

( 98 +:1300 * 180 + 1.150 * 20.0 )* 05

0925 * 200 * 05

1/12 * 28100 *( 1500 + 0.300 )2

1/24* 28100 *( 1500 + 0.300 )2

1/2* 28100 *( 1500 + 0.300 )

1/2*(1/2* 28100 +1/6* 9250 )* 0.925"2

( 28100 +1/2 * 9250 )* 0925

1.300 m

1.150 m

0.925 m

28.100 kN/m2

9.250 kN/m2

7.587 KN m

3.794 kN m

25.290 kN

6.670 kKN m

30.271 kN



ot

/6 * * "2

1/6 * 1000 * 300 "2

/

7.587 *10"6 / 15000000

15000000 mm2

0.51 N/mm2

0.23 N/mm2



kN m 7.587 3.794 6.670 6.670
kN 25.290 30.271
cm 100.0 100.0 100.0 100.0
cm 30.0 30.0 30.0 35.0
i cm 10.0 10.0 10.0 10.0
mm 13 3.33|D 13 3.33|D 13 3.33|D 13 3.33
cm2 4.22 422 4.22 422
0.0021 0.0021 0.0021 0.0017
o |N/mm2| OK 18| OK 09| OK 16| OK 11
o |N/mm2| OK 971 OK 49| OK 85| OK 68
T [N/mm2| OK 0.13 OK 0.15
o | N/mm2 8.0 8.0 8.0 8.0
o | N/mm2 160 160 160 160
T | N/mm2 0.39 0.39 0.39 0.39
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